Max. non-expans. o wovle
H=urpV, s« dH= dU+ d(pV) = dg + olw + d(pV)
G=H-TS, so d6=odH-TdS5- SdT
= dgq+ dwr d(pv)- TdS- SdT
AT=0, iseRermal :
dé=z dg +dw + d(pv) - TdS
Rwensilla: dw=dwrn, d = dgeev = TdS
50, dG = dw,, + d(pV)
wvpansion wabk: we-pdV
L hon-expamim rib: wne ((2.9., eledosin a wie,
rwsing & cobamn o Uguid rs. granthy,
Latbeni o (aledichom,) ) 7. )
s d€z dw,, -pdV + pdV + Vdp
dé = dwne + I/o(,o
if chage hogpins aL comt= p,T (rneeessan, fn G), than
dG = dwne

Foo a rwusitbe pTam ) wok done 1s [ha mex vedme ) 5o

dé = dw,‘e)m,.,x )y D6 = Wneymex

»-g,.L,

2010-11-03 11:01:01 8/8 Unnamed Page (8/8)






